Best model for HELP J103658.753+573407.172 at z = 0.787 x?>=9.63

OPTx2=12.87 IRx?=3.11 threshold (OPT IR)=14.3 [um]

> 1 Stellar attenuated
10 [ Stellar unattenuated
q —— Dust emission
g —— AGN emission
]_01 E = Model spectrum
E ® Model fluxes
i [ Observed fluxes
— 100 4
Ea ]
£ 1 s
— 10—1 4 o
X E ﬁvf"’/ -
2 ] ety VA g =~
Tl
107~ 5
1073 3
3077 5
= 1 3
= ] ==f=(Obs-Mod)/Obs
S ]
S
n
] o R i e —— —— —— e e ———————————————————
o ]
) ]
2 ]
S ]
& 10° 10! 102 103 104

Observed wavelength [um]

g

CiGAL



